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Michigan Technological University

Supervisor Responsibility Test.

TRUE/FALSE – Mark an X in as many as apply

1.
Larger mines pay higher MSHA fines than smaller mines for the same serious violation. T___, F___

2.
Profitable mines pay higher MSHA fines than unprofitable for the same serious violations. T___, F___

3.
Previous violation history does not affect amount of the fine for a serious violation. 

T___, F___

4.
MSHA will not reduce the fine if the serious violation is corrected right away. 

T___, F___

5.
The maximum fine for an S&S violation is $5,000. T___, F___

6.
A missing guard where almost no one is likely to get hurt would result in a lower fine. T___, F___

7.
An S&S violation is defined as a violation that is reasonably likely to result in serious injury or illness. T___, F___

8.
MSHA considers an injury to be serious if it results in lost work days. T___, F___ 

9.
MSHA can withdraw miners from a work area for the following reasons:


1) Miner complains about discrimination. T___, F___


2) Inspector finds a guard off moving machinery. T___, F___


3) Inspector finds the brakes aren’t working properly on a loader. T___, F___


4) An immediately-reportable accident has occurred in the area. T___, F___


5) The last time the inspector was there, he found the fire extinguishers hadn’t been checked and the condition still exists. T___, F___


6) The mine operator fails to produce the proper training certificates. T___, F___

10.
MSHA can issue a withdrawal order for the following reasons:


1) 
A cited violation is not corrected in a reasonable period of time? T ___, F ___


2) 
Unwarrantable failure S&S violations are cited during two MSHA visits within 90 days. T___, F___


3) 
The finding of S&S violations on subsequent MSHA visits that are similar to the ones for which withdrawal orders in item 2 were issued. T___, F___


4) 
Finding an S&S violation within 90 days of issuing a written statement to the mine that a pattern of S&S violations exists. T___, F___


5) 
Finding an S&S violation on any subsequent visit after a withdrawal order has been issued for reasons given in item 4. T___, F___
Answers - Supervisor Responsibility Test.

TRUE/FALSE – Mark an X in as many as apply

1.
Larger mines pay higher MSHA fines than smaller mines for the same serious violation. T___, F___

2.
Profitable mines pay higher MSHA fines than unprofitable for the same serious violations. T___, F___

3.
Previous violation history does not affect amount of the fine for a serious violation. 

T___, F___
4.
MSHA will not reduce the fine if the serious violation is corrected right away. 

T___, F___
5.
The maximum fine for an S&S violation is $5,000. T___, F___
6.
A missing guard where almost no one is likely to get hurt would result in a lower fine. T___, F___

7.
An S&S violation is defined as a violation that is reasonably likely to result in serious injury or illness. T___, F___

8.
MSHA considers an injury to be serious if it results in lost work days. T___, F___ 

9.
MSHA can withdraw miners from a work area for the following reasons:


1) Miner complains about discrimination. T___, F___

2) Inspector finds a guard off moving machinery. T___, F___


3) Inspector finds the brakes aren’t working properly on a loader. T___, F___


4) An immediately-reportable accident has occurred in the area. T___, F___


5) The last time the inspector was there, he found the fire extinguishers hadn’t been checked and the condition still exists. T___, F___


6) The mine operator fails to produce the proper training certificates. T___, F___

10.
MSHA can issue a withdrawal order for the following reasons:


1) 
A cited violation is not corrected in a reasonable period of time? T ___, F ___


2) 
Unwarrantable failure S&S violations are cited during two MSHA visits within 90 days. T___, F___


3) 
The finding of S&S violations on subsequent MSHA visits that are similar to the ones for which withdrawal orders in item 2 were issued. T___, F___


4) 
Finding an S&S violation within 90 days of issuing a written statement to the mine that a pattern of S&S violations exists. T___, F___


5) 
Finding an S&S violation on any subsequent visit after a withdrawal order has been issued for reasons given in item 4. T___, F___


Ans. 1-8 -- TTFFFTTT, 9 -- FTTTTT, 10 -- TTTTT
